Static combination

S2 Waterfall diagrams

= Travel length 500 m

Static Combination - Travel length 600 m

1000

1000

Static Combinati

1 - Travel length 700 m

& £ £
}
(1] 100 200 300 400 500 A0 (1] 100 200 300 400 500 600 70 800 (1] o) 200 300 400 500 600 TO0 800
Iteration Tteration Iteration
oo Static Combination - Travel length 800 m 1000 Static Combination - Travel length 900 m 1000 Static Combination - Travel length 1000 m
{u 0 i
=
0
0 500 1000 1500 0 00 400 600 800 1000 1200 1400 0 500 1000 1500 2000 2500
Iteration Iteration Iteration
oo Static Coy nation - Travel length 1100 m 1200 Static Combination - Travel length 1200 m 1000 Static Combination - Travel length 1300 m
Ll 200 UL
10004
0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500 1] 00 1000 1500 2000
Iteration Iteration Iteration
oo Static Combination - Travel length 1400 m 1400 Static Combination - Travel length 1500 m 1000 Static Combination - Travel length 1600 m
{1 i o
i
\
1200 1
|
|
1000 |
0
0 00 1000 1500 2000 2500 3000 0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500
Iteration Iteration Iteration
Jonn Static Combination - Travel length 1700 m 1000 Static Combination - Travel length 1800 m 1200 Static Combination - Travel length 1900 m
N N 200
|
|
1
1000 |
0 —
0 500 1000 1500 2000 0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500
Iteration Iteration Iteration




Ermror

1200

1000
|

Static Combination - Travel length 2000 m

1200
\

|
1000
|

Static Combination - Travel length 2100 m

Ermror

Static Coml
1200

1000 l'.

nation - Travel length 2200 m

0 SO0 1000 1500 2000 2500 3000 3500 0 00 1000 1500 2000 2500 3000 0 00 1000 1500 2000 2500 3000
Iteration Iteration Iteration
1200 Static Combination - Travel length 2300 m 1200 Static Combination - Travel length 2400 m 1200 Static Combination - Travel length 2500 m
20 20 20
1000 {| 1000 ) 1000
Koo
g GO0
400
200
0
0 SO0 1000 1500 2000 2500 3000 3500 0 00 1000 1500 2000 2500 3000 0 1000 2000 3000 4000 SO0 6000
Iteration Iteration Iteration
1200 Static Combination - Travel length 2600 m 1000 Static Combination - Travel length 2700 m 1000 Static Combination - Travel length 2800 m
20 i i
B0 F'
£ £
0 0
G 300 1000 1500 2000 2500 3000 3500 4000 1] SO0 1000 1500 2000 2500 3000 3500 0 SO0 1000 1500 2000 2500 3000 3500
Iteration Iteration Iteration
1200 Static Combination - Travel length 2900 m 1000 Static Combination - Travel length 3000 m 1000 Static Con
20 i i
1000
&O0
E oo E E
400
200
0 -
G 300 1000 1500 2000 2500 3000 3500 4000 G 300 1000 1500 2000 2500 3000 3500 4000 G 300 1000 1500 2000 2500 3000 3500 4000
Iteration Iteration Iteration
om0 Static Combination - Travel length 3200 m 1000 Static Combination - Travel length 3300 m 1000 Static Con ation - Travel length 3400 m
i 00 ¢ i
|
BOO
oy N "
& & &
a0
200 .
[
1] 1000 2000 3000 4000 5000 6000 0 500 1000 1500 2000 2500 3000 3500 4000 0 1000 2000 3000 4000 000
Iteration Iteration Iteration
1200 Static Combination - Travel length 3500 m
20
1000
£000) §
E oo )
400
200
0
0 1000 2000 3000 4000 000

Iteration




Dynamic search strategy selection

Dynamic Selection - Travel length 600 m

Dynamic Selection - Travel length 500 m

ynamic Selection - Travel length 700 m

Iteration

Iteration

Iteration

i) S0W) 1000 1500 2000 i) 500 10608 1500 2000 2500 i) SO0 1000 1500 2000 2500
Iteration [teration Iteration
Dynamic Selection - Travel length 800 m Dynamic Selection - Travel length 900 m Dynamic Selection - Travel length 1000 m
R00 RO R0 °
i
.|
700
}
[ 00 1000 1500 2000 2500 3000 [ SO0 1000 1500 2000 2500 3000 3500 O 500 1000 1500 2000 2500 3000 3500 4000
Iteration Iteration Iteration
Dynamic Selection - Travel length 1100 m \ Dynamic Selection - Travel length 1200 m Dynamic Selection - Travel length 1300 m
R00 . oog ° R0 °
700 7||n"|
o —
[ 1000 2004 2000 4000 5000 [ 1000 2004 2000 4000 S000 O 500 1000 1500 2000 2500 3000 3500 4000
Iteration Iteration Iteration
Dynamic Selection - Travel length 1400 m \ Dynamic Selection - Travel length 1500 m \ Dynamic Selection - Travel length 1600 m
Ton . oog ° ok °
£
[ 1000 2000 3000 4000 S000 6000 [ 1000 2000 2000 4000 5000 o 1000 2004 30400 4000 5000
Iteration Iteration Iteration
1 - Travel length 1700 m | Dynamic Selection - Travel length 1800 m Dynamic Selection - Travel length 1900 m
R00 oog ° Too °
R0
600
£
ik
200k
0 =
[ 1000 2004 2000 4000 5000 [ 1000 2000 000 4000 5000 6000 [ 1000 2000 3000 4000 S000 6000
Iteration Tteration Iteration
1 - Travel length 2000 m Dynal Selection - Travel length 2100 m Dynamic Selection - Travel length 2200 m
R0 RO ° R0 °
700
600
S0k
E 400
300
200
100 |
o o - -
o 1000 2000 3000 4000 S000 G000 TO00 o 1000 2000 3000 4000 SO00 G000 7000 o 1000 2000 3000 4000 000 E000




Dynamic Selection - Travel length 2300 m

Emor

Dynamic Selection - Travel length 2400 m

Dynamic Selection - Travel length 2500 m

0 - . - 0 0 .
[} 1000 2000 3000 4000 SO00  GOO0  TO00 [} 1000 2000 3000 4000 SO00 GOO0 7000 0 1000 2000 3000 4000 5000 G000 7000
Tteration Tteration Tteration
1000 Dynamic Selection - Travel length 2600 m S0 Dynamic Selection - Travel length 2700 m - Dynamic Selection - Travel length 2800 m
i ( (
0
00
00
600 . _ 30
£ E £ 400
400 300
200
200 =
108k -
0 0 0 -
[} 1000 2000 3000 4000 SO00  GOO0  TO00 0 1000 2000 3000 4000 5000 6000 TOOO 8000 01000 2000 3000 4000 5000 6000 TOOO 8000
Tteration Tteration Tteration
- Dynamic Selection - Travel length 2900 m S0 Dynamic Selection - Travel length 3000 m - Dynamic Selection - Travel length 3100 m
( ( (
TO0 To0
GO0 00
S00 s00
E 00 400
300 300
200 200
L0 f | 100
0 0 - 0
01000 2000 3000 4000 5000 S000 OO0 8000 0 2000 4000 G40 F000 10000 0 2000 40040 G040 000 10000
Tteration Tteration Tteration
- Dynamic Selection - Travel length 3300 m - Dynamic Selection - Travel length 3200 m - Dynamic Selection - Travel length 3400 m
( ( (
00 00 To0
Eni] 00 00
S00 S00 S00
E 400 Eano E 400
300 00 300
200 200 00
106 106 100
5 4 5
0 2000 4000 GO0 F000 10000 0 2000 4000 GO0 F000 10000 0 2000 40040 G040 000 10000
Iteration lteration Iteration

Error

1000

00

600

400

200

Dynamic Selecti

1 - Travel length 3500 m

2000

4000 (] F000 10000
Tteration




